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(Chemical Bonding)
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Q.1.

Q.2.

Q.3

Q.4.

Q.5.

INSTRUCTION — ATTEMPT ALL QUESTIONS

In PO} ion, the formal charge on each oxygen atom and P-O bond order respectively are

(a)-0.75, 1.25 (b)-0.75,1.0 (c)-0.75, 0.6 (d)-3,1.25

Among LiCl, BeCl,, BCl; and CCl,, the covalent bond character follows the order
(a) BeCl, > BCl3 > CCly< LiCl (b) BeCl;, < BCl; < CCl4< LiCl

(c) LiCl < BeCl, < BCl; <CCl,4 (d) LiCl > BeCl, > BCl; > CCl,

Which one of the following formulae does not correctly represent the bonding capacities of

the two atoms involved?
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Among the following, which compound will show the highest lattice energy ?
(a) KF (b) NaF (c) CsF (d) RbF
Which of the following set of molecules will have zero dipole moment?

(a) Ammonia, Beryllium difluoride, water, 1,4-dichlorobenzene

(b) Boron trifluoride, hydrogen fluoride, carbon dioxide, 1,3- dichlorobenzene
(c) Nitrogen trifluoride, beryllium difluoride, water, 1,3- dichlorobenzene

(d) Boron trifluoride, beryllium difluoride, carbon dioxide, 1,4- dichlorobenzene
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Q.6.  Which of the following is the correct order of dipole moment ?
(a) NH; < BF; < NF; < H,0 (b) BF; < NF; < NH; < H,0

(c) BF3 < NH; < NF; < H,0 (d) H,0 < NF3 < NH; < BF;3

Q.7. The species, having bond angles of 120° is

(a) CIF; (b) NCI; (c) BCl; (d) PH;

Q.8. Consider the molecules CH4, NH; and H,O. Which of the given statements is false?

(a) The H—0—-H bond angle in H,0 is smaller than the H— N — H bond angle is NHs.

(b) The H=C—H bond angle in CH, is Larger than the H— N — H bond angle is NHs.

(c) TheH-C-H bondangle in CH, is smaller than the H— N — H bond angle is NHs, and the
H—0—H bond angle in H,0 are all greater than 90°.

(d) The H=0 -H bond angle in H,0 is larger than the H— C — H bond angle is CH,.

Q.9.  Which of the following molecules has the maximum dipole moment?
(a) €O, (b) CH, (c) NH; (d) NFs
Q.10. The correct order of increasing bond length of C-H,C -0, C—Cand C.Cis

(@ C-H<C_C<C-0<C-C
) C-C<C_C<C-0<C-H
() C-0<C-H<C-C<C_C
(@ C-H<C-0<C-C<C_C
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